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iv) 14 9@ & ULEET fe 95 o gan i) Which of the following is 'Personal’

ar ? Account ?
#) 1959 9) 1969 a) Wages b) Salaries
q) 1984 3 1991 1 c) Bank d) None of these.
v e @ Fat e st o @ 1
‘T2

iii) Which of the following activities is

) THat q) a@d
¥ ARG ) FH A EE R

not the 'Business' ?

a) Manufacturing

Write the correct alternatives of the

b) Contract work
following questions in your answer-book : -

c) Social service
i) 'Investment' 1s

C t t d) Trading in shares. _ 1
a) urrent asse

bj Fixed asset iv] In which year were 14 banks
ixe

nationalized ?
c) both (a) and (b)

959 b} 1969
d) none of these. 1 a) 1 )

c) 1984 d) 1991. 1
[ Turn over



5 829

829 6

Which of the following activities is
'labour’ from the point of view of 3. i) ‘Sfee T e & W g &
Economics ? AT BT | 2
a) Robbery i) G Awg T@ FHT U HIC | 2
b) Smuggling i) ‘RO T A WOt FA-EE 2 2
c) Chain snatching iv) smyfiE o B wEg q SH S
d) None of these. 1 3 g g4 F T & 9w fag
#q ‘fagr’ # AR wa € 2 1 fafaw | 2
fag F a9 ‘e qfge’ #Er k@ 2 1 v & &% & 9w FE TR | 2
Ferge’ F AR fwe e 2 1 vi) faf faor @ & 2 wo Q fodwaret
T TS U :ir,ﬁ T2 1 T Iool@ BT | 1+1
w7 T A F1 friee sy o 4 3 i) 'Debits are always equal to credits.’
FE@L 2 1 Explain. 2

ii} Describe the Petty Cash Book. 2

Why do we e 'Balance Sheet' ? e
y prepar ¢ iiij Which is the best system of 'Filing' ?

1
2

Where would you show '‘Contingent _
. ¢ iv) Write four points of importance of

liabilities' in Balance sheet ? 1 _ _ )
time and labour saving devices 1n a
Who invented 'Calculator' ? 1 ) 5
modern business.
Is all wealth capital ? _
P ! v) State four functions of a bank. 2
Are all notes issued by the R )
g e vi) What is Bill of Exchange ? Mention

Bank of India ? 1

| Turn over

e R
its two characteristics. 1+1



4.

7 829

frafafaa ger & s @& gauE foero
31 g/, 2016 Hi F%3 : 4

i)

iii)

iv)

3@ fafr it OFe @ 7 &6 @ 9N
3,000 To T |

000 o F AF A # AT ferar AT @
g de @@ o anedt 7 I A g |
S # 1,800 To F I 9% 3 ™ €,
I Q 9% F TW Fad 800 To FH TH
¥F &y & fog wga fovar T |
Srafafas whafedt oags § @t m o
W Vg 7@ 39 fafy a% @ for@
™

37) o T 40 To |

@) 200 w0 F @ e ¥ @

T T AT |
¥) T UEF g A% § 500 Fo WY
1 = 2 |

L]
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From the following information prepare a

Bank Reconciliation Statement on 3lst

March, 2016 : ' 4

i)

i)

iii)

On this date the bank balance in
cash book was Rs. 3,000.

A cheque of Rs. 200 was deposited
in the Bank but it is yet not credited
in the Bank.

Two cheques of Rs. 1,800 were given
to the creditors but out of them only

one cheque of Rs. 800 was

presented in the Bank.

The following entries were made in
the Pass Book but they were not
entered in Cash Book by that date :

a) Bank charges Rs. 40.

b) Insurance premium of Rs. 200

was paid by the bank.
Rs. 500 were deposited in the

bank directly by a customer.
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T ot ANRY F g 1 GHAT & 2GR

FHROT T | 4
Can wholesalers be removed ? Give four
reasons. 4

a) i) i ded R riEEd o 2
ii) el W R-TEEa FR F A
fafaq | 2

) ) 3eqfy & g & AW faEg 1 2
ii) S9a 1 FEE g Wl | 2

Write four merits of indigenous

bankers. 2

Write the names of any four
2

ii)
non—nationalised banks.

by i Write the names of factors of

production. 2

State the social importance of
2

ii)
saving.
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o = far | 2 fofr o o s &

mar |
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H) o T U B e o v & ek

q) W9 WA 4 ©H, 2016 B A dF @
fros @) 5,850 Bo A AT E |

W) T @A 10 W, 2016 F AW GRR

HR 6,100 Fo & FT & F SpEAH
4 fam & FF a dm d
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31mﬁ.2016ﬁmﬁ%mﬁ%ﬁuaﬁ$
e g Yo ¥ ofem @ FE

qeTal & MR WA ] 2+3+3
T @t F M e Hiee
(¥0) (o)
& 53,500
| A5 2,080
ﬁa‘* fopa 80,000 | 1,12,800
9
a7 6,000
ﬁ_,—ﬂq'r E'd’ HT 4,300
QT 3,000
Wm 880
areieA # 500
— qraE 600
= 800
fipra Al
FARK 6,000
0T 30,000
yRiSws Wl 24,600
¥R T TER 30,000 20,000
1,87,780 | 1,87,780
‘G‘R‘I‘d’lﬂ“lﬁ :

j i< Telaar 32,000 To |
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i) o W 600 Fo |

i) W B T A - w0 | 0%,
HR W 15% |

iv)  SI¥IA FT WA H 400 To § TIRT |

On 1st March, 2016 Aryan sold goods on

credit worth Rs. 6,000 to Dev. Aryan

drew a bill for 3 months on Dev which
was accepted and returned by Dev to

Aryan. The bill was honoured on due

date.

Pass journal entries in the books of

Aryan under each of the following

circumstances : 8

a) When Aryan keeps the bill with
himself and receives the payment on
due date.

b)  When Aryan discounts the bill with
his banker for Rs. 5,850 on 4th
March, 2016.

¢)  When Aryan endorses the bill to his
creditor Sagar on 10th March, 2016
in full settlement of his debt of
Rs. 6,100,

OR
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On the basis of the

in ‘ |
formation, prepare Final Accounts of

following

Sagar Traders' for the Financial vear

ending on 31st March, 2016

2+3+3

Provide Depreciation i

Plant
Increase provision for

Rs 400,

111)

v}

Name of Accounts Debit Credit
(Rs.) (Rs.)
Capital 53 500
Cash 2,080
Purchases & Sales 80,000 1 12.800
Salaries 6.000
Rent & Tax 4 800
General Expentses 3,000
Commission 880
Bad Debts 500
Provision for Bad
Debts 600
Sales Return 800
Furniture 6,000
Plant 30,000
Opening Stock 24,600
Debtors & Creditors _| 30.000 20,000
P S 1.87.780 ) 1 87.780
- Edjustments:
i) Closing stock Rs. 32,000.
i) Prepaid tax Rs. 600.
10% on

and 15% on Furniture
Bad Debts

F Ty arr Ve
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# Ii%iiﬁiiwmﬁmm%:
4 3H T 3 TAF 100 WX
ﬂﬁl?ﬂl‘{; W 850 %o

15 e
o s | <« 900 To

5202

%o
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Gl w00
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Anurag of Sambhal has sold following
goods on behalf of Thulla Bhai of
Sambhal :

4 Drums of Mentha oil each containing
100 litres @ Rs. 850 per litre.

20 Tins of Mentha oil each containing

15 litres @ Rs. 900 per litre.

Expenses are :

Rs.

i) Truck freight 12,000
i) Insurance 1,200
iiij Carriage 800
iv] Godown Rent 9,000
2,000

v) Other Expenses
Commission @15% has been deducted.

Prepare Sales Account. 8

OR
Describe card indexing and explain its
utility. 4 +4
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URTG RE S % HEl G0 T | 8
raan

't 9 W U o fefEn | 8

Describe the functions of State Bank of

India. 8

OR
Write an essay on 'Indigenous Banker'. 8

BT & 2 44

HAYAT
‘Hﬁqﬁm'ﬁwm;}p@ﬁ
FARHAT B AT FE A TG w1 quS
aﬁﬁ‘q1 2+6

Explain the characteristics of labour.
What are the different kinds of labour ?
4+4
OR

Define 'Productivity of Land' and discuss
the factors affecting productivity of land.
2+6
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